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3.26 x 80% = 1.1 x80% =

8.34 x 20% = 4.69 x 40% =

4.78 x 40% = 1.98 x 10% =

4.59 x 80% = 5.8 x50% =

4.38 x 10% = 7.93 x90% =

2.77 x70% = 6.77 x 50% =

5.61 x 50% = 6.89 X 30% =

9.12 x 80% = 6.52 X 50% =

9.85 x40% = 1.03 x70% =

3.29 X 50% = 9 x 80% =
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3.26 x 80% = 2.608

8.34 x 20% = 1.668

4.78 x40% = 1.912

4.59 x 80% = 3.672

4.38 x 10% = 0.438

2.77 x70% = 1.939

5.61 x 50% = 2.805

9.12 x 80% = 7.296

9.85 x 40% = 3.94

3.29 x 50% = 1.645
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1.1 x 80% = 0.88

4.69 x 40% = 1.876

1.98 x 10% = 0.198

5.8x50% =129

7.93 x90% = 7.137

6.77 x 50% = 3.385

6.89 % 30% = 2.067

6.52 x 50% = 3.26

1.03 x70% = 0.721

9x80% = 7.2
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